Perryfields

é@ Silver Cluh
i % Name: Score:

Primary
0.02x100= Lq + 7 = 30x50 = 720+90= 33 =
VEq = 0.8 x7 = 450+9= §0f64= 12 =
22% of 400= |7.2xI00= 0.03xI0 = 30 x60= 324+100=
840~+7= 5x80 = 9.3 xI00= 0.19x1000= 65.2x10=
0.4xIl10= VéhL = 932+100= 122 = 8.07x100=
75+100= 270+1000= | 98x0.I= ;Ofm: 28+100=
9 x 6 = Lx(8+4)= 79-(3xk)= [ 320+4= %Ofm:
15%0f360= 12 x 8 = 55%0f300= /7 x 9= V8l =
IAx(48+6)= 80 + 4= LOOx7 = 60xl10= 0.3x700=
(56-L44)x7= 53 = 60+(20-15)= | 50x7= 0.07x40=
dx12 = 4200+6= q903+100= I3 x 4 = 1800+6=
gof63= gof6o= 9 = vi2l ;0f56=
0.8+100= 88 + 10 = 0.04x60= 0.1x890= S540+60 =
V36 35% of 200= |8 x 6 = 6 + 10 = 72 + 6 =
8 x /7 = 12 x 9 = 3.07 xI0= 25.5x100= 45%0fl20=
5%0f600= 28 +10= (6x8)+12 = %ofm: 3005+100=
0.6x0.3 = /75 + 5 = 0.7x0.09= 0.06x8= Ax(72+12)=
7x(25+5) = |43 = 190-(144+12)= ;of420= 30+(6x8)=
90 x 8 = 1:0x60= of 54 31% of 200= |[3200+8=
160+40 = §0f65= 0.07x100= 45%ofl40= 70.2+10=







